Electrostatics Introduction: Electric Potential Energy and Electric Potential
1. A space exploring physicist is exploring space. He is armed with only a pocket full of assorted test-charges (Q) and an energy-meter (Ue). From the data gathered at each of the locations shown below, Fill in the blank values and determine the electric potential at each point. All charges are in µC and all energies are in mJ. Give answers to 2 sig. figs.
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2. An electron is placed at a point where the potential is 12V. The electron is then moved to a point where the potential is 16V. 


a. What is the change in potential?


b. What is the change in electrical potential energy of the electron?

3. A +4.0µC charge is placed at a point A, in a uniform electric field E=2500N/C left. The charge is then moved, at constant speed,to a point B, 1.2m to the right.


a. What is the applied force needed for this motion?


b. How much work is done to the charge?


c. What is the change in (electrical potential) energy of the charge?


d. What is the change in potential ΔV = VB - VA ?


e. Write an expression to relate ΔV, E and d.
4. Find the kinetic energy of a proton that is initially at rest and then accelerates from a point A to a point B if 

ΔV= -1.0V
5. 4. Find the speed of a proton that is initially at rest and then accelerates from a point A to a point B if 

ΔV= -1.0V

6. 4. Find the kinetic energy of an electron that is initially at rest and then accelerates from a point A to a point B if 

ΔV= 1.0V

7. Find the speed of an electron that is initially at rest and then accelerates from a point A to a point B if 

ΔV= 1.0V
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